Getting Started 1

To mount the oscilloscope in a rack

The InfiniiVision 6000 Series oscilloscopes can be mounted into
Electronic Industries Association (EIA) standard 19-inch
(487-mm) rack cabinets.

To mount the 6000A Series oscilloscope in a rack

Purchase and install the N2916A rack mount Kit. Instructions
are included in the Kkit.

To mount the 6000L Series oscilloscope in a rack

The 6000L Series oscilloscope is supplied with all necessary
hardware for installation into a standard EIA 19-inch rack.

Table7  Rack Mount Hardware Supplied

Quantity Description Agilent Part
Number

2 Front Extender Support D6104-01201
2 Rear Extender Support D6104-01202
4 Rear Extender Screw (M3 x 6 mm) 0515-0430
4 Dress Screw (10-32 x 0.0625) 0570-1577
8 Rail Screw (10-32 x 0.375) 2680-0281
12 Clip-nut (10-32) 0590-0804

Tools required (not supplied)

e #2 Phillips screwdriver
e T20 Torx driver

e T10 Torx driver

6000 Series Oscilloscope User's Guide 31



1 Getting Started

If needed

bﬁ"
& Step 1,
& step 5

\:\%
ap._=>Step 2

1 Loosely attach the Front Extender Supports to the Rear
Extender Supports with four (4) clip-nuts and four (4) of the
10-32 x 0.375 Rail Screws. (The screws require a Torx T20
driver.) Choose the correct set of slots in the supports such
that their overall length is approximately correct for the
depth of your cabinet.

32 6000 Series Oscilloscope User's Guide



Getting Started 1

2 Fasten the Rack Mount Extenders to the oscilloscope chassis
with the four (4) M3 x 6 mm screws, using a Torx T10 driver
as follows:

The sets of holes in the Rack Mount Extenders are slightly offset. This was
done to ensure that the Rack Mount Extenders are attached to the
oscilloscope at the correct points so that the oscilloscope’s ventilation
area is not obscured. The holes in the Rack Mount Extenders will align
with the correct holes in the oscilloscope and the screws will go in easily.
Do not force the screws into the wrong holes.

a Attach a Rack Mount Extender to the left side of the
oscilloscope using two (2) of the M3 x 6 mm screws in the
wmmner set of holes on the Rack Mount Extender.

Use inner
holes in
extender

S~ L%

\% Use outer
s holes in
extender

b Attach the other Rack Mount Extender to the right side of
the oscilloscope using two (2) of the M3 x 6 mm screws in
the outer set of holes on the rack mount extender.

3 Place the instrument in the rack. Install the four (4)
10-32 x 0.625 Dress Screws in the chassis front ears to secure
the front of the instrument to the rack. Use the Phillips
screwdriver.

4 Align the ears in the Rear Mount Extenders with the correct
set of holes in the rear of the rack and secure the Rack Mount

6000 Series Oscilloscope User's Guide 33



1 Getting Started

Extenders to the rack using the four (4) remaining
10-32 x 0.375 Rail Screws. Use the Torx T20 driver.

5 Securely attach the Rear Extender Supports to the Front
Extender Supports by tightening the four (4) 10-32 x 0.375
Rail Screws screws that you loosely attached in step 1.

6000L Mounting Bracket Dimensions

The following information is provided in case you want to
design custom mounting brackets for the 6000L. Dimensions are

in mm.
27.60 — = 26.60
1w ol
T = 5 -
]
. P . n
’ ’ ° o000
[/
” Enm
o o 245.09 5 o OO0
= N . o ==
[/ | o [/
o [0 I 214.09 mlE
o0 i ° ° Eam
[ [} N[
[/ 1 I/
[/ 0 © I/
I = = = 1
— — = |

8.75 | 46510 ‘ 5.87
—r !

@) C}"—L

169 697 0 .I

>

34 6000 Series Oscilloscope User's Guide



